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1. Find an integrating factor and solve the initial value problem (209%)

(e —siny)dx+cos ydy =0 y(O):—g—.

2. Solve the initial value problem by the Laplace fransform. (20%j)
4 . r I i ;
YWey=0,  w0)=y(0)=y"(0)=0, y"(0)=2.
3. Use the frequency convolution theorem to find the Fourier transform for the function shown below

(20%)

2cos(t) , —10x<t<liOrx
0 . otherwise

f(x)={

4. (x,y,z)=x"+y°+22° (20%)
(a) What is the directional derivation at the point (7., )in the direction #=X+y+z 9

(b) What is the normal vector of @(x.y,z) atthe point (1,1,1) ?

5. Both of Aand B are J5xJ5 matrices > where (20%)

_ 9 B 1
27 9 3 1 2 31 4 2
3 _ ! 3 2 4 2
0 1 ¥, -13 4
A=l o9 o0 1 5 -4 B=10 1 4 0 4
1
0 0 6 Y, o0 112 2 2
0 0 -8 0 0 0 3 3 3 3]
Find the determinants of following matrices.
(@) 4 (b) B (c) —247'B? @) ((B"A7)" ) )"

(A_]is the inverse matrix of 4. B is the transpose matrix of B .)





